2003-2009 DODGE RAM

2500/3000 5.9L/6.7L CUMMINS f ‘ MISHIMOTO

TRANSMISSION COOLER
PARTS LIST & INSTALLATION GUIDE

PARTS INCLUDED

Mishimoto Stacked Plate Transmission Cooler
High-Pressure Transmission Cooler Lines
Thermostat

Thermostat Bypass Plug

CNC-Machined Stainless Steel Barbed Fittings
CNC-Machined Aluminum -8AN to Hose Barb

Fittings
Worm Gear Clamps 2. Liftthe AC condenser up and out from behind the
front bumper. Then softly lower it and let it rest
TOOLS NEEDED so that it is out of the way pf the intercooler.
3. Loosen the clamps on the intercooler end tank
7mm Socket connections. (2x T-bolt clamps)

10mm Socket

13mm Socket

1/4" Drive Ratchet & Extension
Hose Cutting Tool

INSTALL TIME
INSTALL DIFFICULTY

DISCLAIMER 4. Remove the bolts on the upper brackets that
secure the intercooler. (2x 10mm bolts)

5. Lift the intercooler and remove it from the vehicle.
See that both pipes are off the end tanks. You
may need to jiggle the intercooler as you remove
INSTALL PROCEDURE it to get the pipes off.
6. Loosen the clamp on the cold-side pipe and
remove the pipe. (1x t-bolt clamp)

1. Remove the bolts that secure the AC condenser.
(4x 13mm bolts)

MISHIMOTO | 18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO0.COM




2003-2009 DODGE RAM

2500/3000 5.9L/6.7L CUMMINS
TRANSMISSION COOLER
INSTALLATION GUIDE

A7 |MISHIMOTO

3
7. Mark the transmission cooler hoses. It's
recommended that the mark be five inches back
from the hump. Once done, cut the hoses on
your mark.

]
#42F MISHIMOTO RECOMMENDATION
CUT 5 INCHES BACK FROM HUMP

8. Remove the bolts that secure the transmission
cooler. Then remove the cooler. You will need to
lift it slightly to clear the brackets on the bottom.
(2x 13mm bolts)

9. Install the stainless steel hose barbs provided in
your kit to the transmission cooler hoses.
(2x worm gear clamps)

MISHIMOTO |

10. Install your Mishimoto transmission cooler.
Engage the tabs at the bottom with the brackets
on the radiator. (2x 13mm bolts)

11. Install one of the provided hoses to the feed (top)
line. (1x worm gear clamp)

12. Connect the feed line to the transmission cooler’s
top port. (1x worm gear clamp)

%

|

|

|
|
|
1
|
}
)

|
i
|
i
I |
i
)}
|
i
i
1

13. Install the other provided hose to the second
transmission cooler line. (1x worm gear clamp)

14. Then connect the hose to the transmission
cooler’s bottom port. (1x worm gear clamp)

B

15. Reinstall the cold-side pipe. (1x t-bolt clamp)

16. Reinstall the intercooler and reattach the pipes to
the end tanks. (2x T-bolt clamps)

17. Secure the top brackets on the intercooler.
(2x 10mm bolts)

18. Put the AC condenser back into position. Secure
the brackets on both sides.
(4x 13mm bolts)

19. Check the transmission fluid level. Add fluid
as needed.

18 BOULDEN CIRCLE, NEW CASTLE, DE 19720 | P 877.466.4744 | WWW.MISHIMOTO.COM




